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91T - I/PART - I
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Direction : Answer the following questions by selecting the most appropriate option.

1. e & Tl # 9edrT a9 & g
HETE B
(1) e
(2) T e
(3) SIS HT

(4) THUHF FGBR Bl

2. TF % & GHOIHT 8Y FATE &
s T Frefafed § § - ol
IugEw 7E e !

(1) geer farerer
(2) TTRTHIRTT
(3) U= STITE
(4) AT

3. UF [Pl & g & fgwg § F=fafad
T 77 FUF P E 7

(1) da ot sfrm g aiafdd
gt 21

(2) T W B B

(3) UOF T A UFH WG JeI el ¢ |

(4) G 9@ IEE § TG & 2|

4. HAfed fren & awed @

(1) ARG Bl S qm HE-FHE
T QX AT

(2) i Pranett & R Fan-we
¥ QU A

3) = Frrarett At fafiree e
¥ QI T

(4) R PBrearel & 8T W STgEsH
3T X HIAT|
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1. To cooperate the adolescent it is
essential to
(1) Inspire
(2) Indicate his mistakes
(3) Criticise him
(4) Do negative behaviour

2. Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline
(4) Over-protection

3. Which of the following is a wrong
statement about emotions of an
adolescent ?
(1) Emotional

modified by learning.

expressions are

(2) Emotions are permanent.

(3) Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external
stimuli.

4. Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in-
different classroom.

(3) Meeting individual differences in
special schools.

(4) Meeting individual differences in
home based instruction.

BT O
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(1) e @

(2) wrar-far @&

(3) -t

(4) FArRET F

B8R H S gedt @1 g wu d e
fham T @bl €, afe oTeETue

(1) IR-AR & & e 1|
(2) @4 I G TR FY|
(3) e AR N eI g |
(4) Ft-garett & A L

e fovae afd & 3 Grean ol
P i # § g B, o ¥

(1) 44 SFTE TG HE |
(2) Sfed aren, fwdwe, gee ek
Frepe feyepTer |

(3) FB TG H AT T FHe |

(4) wiclsrn &t [fEEr @ s $eEn
FTER R HeE9H B AR 4

R & gar fafy &
(1) TH=EE (2) IS
(38) W= (4) FEES

Freifeifad & & @F-wr Reolraen §
a6 #1 o @er 78 R ?

(1) 997 97 T H U aH G
B

(2) Rda /i & gfq sredor 8
(3) At dedi # 9 4 A

(4) fafdre Rt o ferame &
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

- (3) Peer Groups

(4) Films

Moral
inculcated among the students when

values can be effectively

teacher

(1) Frequently talks about values.
(2) Himself practices them.

(3) Tells stories of good persons.
(4) Talks of Gods and Goddesses:.

Critical thinking helps a person in

developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.
(4) thinking about ways of reacting.
Best method of dealing with adolescent
by parents and teachers is
(1) Autocratic (2) Permissive
(3) Democratic (4) Restrictive
Which of the following is not a
characteristic of social development in

adolescence ?
(1) Active member of their peer

group
(2) Being an attraction towards
opposite sex
(3) High decrease in friendly
relationship

(4) Extension of special interests
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(1) T HIBX

(2) TS R

(3) TG FIER

4) a4 faeT @& &

IO STl G g 2

(1) g= 9 |
(2) Tt & faer s @

(3) W gE (Hhd) g @
(4) T TOFT FH &

Fad AR AUE GediHT (CCE)

R B

(1) &a0 T 6 TR B TeHiB
FET |

(2) forE & |ef el 1 gedi ST |

(3) #ad BF % & H YAk HEA |

(4) P9 BF | a9 F qAH B |

Freifafga & & #M-d8f goies dlad

P AYar (draar) 787 & °

(1) e

(2) Tiferpen

(3) g

(4) A

aferm wfoea &1 aed @

(1) 9% & FFer § 89 a/T 9iaa |

(2) T i faeor AR § oiads |
(3) UIZFFE] & G |

(4) TEFEE] B P B
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11.
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A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing
mistakes

without  committing
(3) Listening message properly
(4) Doing mathematical calculations

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the subject-

matter.

(4) Completion of content.

B.E. Q.
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15. G o i g g A @ 7

(1) =2 & 599 & g99
(2) dvE@EeEn & A=

(3) Frelaen & R
(4) TYEHEET B

16. I & AR A B U w §

Frfofead & & -8 SauE Iuge
TR ?

(1) IFht Jrgaratl &1 ofhe e Fieu |

(2) SUgH GRE oY Tl Suee &S
ST ey |

(3) ¥% ffea (@aa) #¢ 3 =ifew
(4) AR A+EE FET e

et & Ty, Py =9 @ ormmERe
fremt & @ s w9 g Fr It
7T ?

(1) =TS IYTH
(2) SSIICIRE SR
(3) wufed Iurm

(4) JEg I

SINCIEET GG I i U e
e et &

(1) SI9% & AEREF Qg o

17.

18.

(2) 9% % AT ey &
(3) d® P MORS g §
(4) 9 % Hieplas fGHe §
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15.

16.

17.

18.

Differentiation of emotions takes
place at the time of

(1) Birth of child
(2) During infancy
(3) During the period of adolescence

(4) During adulthood

Which of the following provision is
to meet individual
differences among learners ?

not suitable

(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.

Working with
particularly maladjusted one, which is

adolescents,

not appropriate ?

(1) Critical approach

(2) Democratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

(1) Emotional development of the
child

(2) Social development of the child
(3) Physical development of the child

(4) Cultural development of the child
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(1) 38 SFATET & TEd § derH
Pt 2 1

(2) WegARg H T a9 H e
et &1

(3) UETHR] F W@ qH 4 qEAH H
e e B

(4) Y G # T=d Bl 2

FEgie TR & udeen Hi Frefeted |
q P-d fadwar 787 & ?

(1) fasgedaar  (2) aggred

(3) e (4) RIS

Pt @eaww @ Freefafea & @
B8 frdeang € 7

(1) BB & W # A S,
frep P ot arw frspat &t

qel B |
2) T TR, e o T 2

(3) FAE NEFERE FH BE R
ARG H & |

(4) BE ‘GE I P TANS 2 |

Prefefee & @ @A ofem # W
JHEEE® BRI gkuied S & s
g g ?

(1) | & e
(2) T=H @ |
(3) STEHT H 1Fw
(4) wgfr & Faw
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19.

20.

21.

22.

A
The

learning is must for a good teacher,

knowledge of principles of

because
(1) It helps in maintaining discipline.
content

make

2 It
interesting.

helps to

(3) It helps to understand the content
by simple methods.

(4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity

(3) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students
draws conclusions and compare
their findings.

design experiments,

(2) Knowledge is objective, universal
and complete.

Teacher transmits authoritative
knowledge to students.

(4) Students look for the 'fight'
answer.

3

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

CRT0.
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(1) Sl frares sty

(2) It FrareTs srafy

(3) yd-frareTs srafy

(@) 3= i srafy

TF S H GOl @Y IEd g,

SFEE IqA TeM ¥ qET W
9T FT &Y PR 2, T T B

(1) 3R FafFas et

(2) I AgfTH AT

(3) s I

(4) W9 AT JgRRTEH o

98 A=RE AFaE 39 S Bl aEEr
B AT FH, FRRE Y g §9
@ F Ugd F 8, Feardt &

(1) e (2) e

(3) PRt (4) SR

B AN AT AN F A A wHEiE
B 9 & i I =

(1) gis @fe (1.Q.) &l 2

2) A afer (A.Q.) ol ¥

(3) WAl @fer (E.Q.) it &1

(4) omemford @l (S.Q.) & B

foer ame: B @ OiT @ % owER
BT 8, e @ g8 e Feanr @

(1) fawsd & uamredis

(@) ﬁﬁ%ﬁ%ﬁﬁ(wﬁamq%aﬁr)
(3) WM ¥ fafire

(4) R
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23.

24.

25.

26.

27,

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high

in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that

arouses, directs and maintains
behaviour is called as
(1) Interest (2) Opinion

(3) Attitude (4) Motivation

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal
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uF B dE qher & [ Hfed ufism
FT @ Bl IS A Y IW o8 IE
A YT HieTaEhd 34 & aer B 2
s ofd

(1) 3T=ifes oo

(2) @ IO

(3) T SR

(4) = 9T a’ o4O

afrTEal BfEd 9™ B R o
Frefafiad & @ o #49 Tod & 98 ©

(1) T8 e @ dradned, s
Al ST A H HF @ B

(2) T8 HEEY, SfEAEd AR W &

Hew T oo adl 2

(3) u%ammzﬁmeﬂﬁﬂqﬂmfﬂﬁrﬁ
MR ) & el § |

(4) T IFIHEASTY-IATTH, FHEN-THEM,
FHEA-AAEE  qd gerei-aE
ot fafrat @ warT Fa g

I G| A I 6| G

gl o I=f & FER @ A
e & 7 |

(1) SAhHHT

(2) G

(3) STEIEHTT

(4) A

(9)

28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.
(2)

It stresses the importance of

enquiry, observation and

investigation.
3) It
knowledge to the learner by the

emphasises transmitting

teacher.

(4)

It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'I do not care' is a
type of behaviour which can' be
called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/167
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31.

32.

33.

34.

35.

& [ N gee

(1) et = fsg + e

(2) THAER = T8 + 4%
@) 9 =99 + &
(4) Y = &A1 + Ty

‘g’ o § - gwT @ S
(1 3 (2) @

(3) & (4) 19

‘qe 1@ X BHar R oA - @ Ry
0% A= g

(1) SteTET

2) e

(3) TBHIA

(4) STRIaT

S A T W A e e -
$ foT o g &

(1) g

(2) At

(3). Mftreraferesr

(4) WA

=t ol # @ F-a1 = ‘mg 7
(1) ™

(2) famm

(3) IEY

(4) 9
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“afe gH e A § o grer Ay s
9 A 2] &l B ©

(1) AE~ T

@) EFRTR T

(3) WY o

(4) YOl eI

o T sifeeied = & T & gon
B -F s = ®

(1) &g

(2) FHIM

(3) ¥aT T

(4)- FAIgd |
fpa o= gue @ g @ fwlE @
g &, g Rl afd s R
T ® 7

(1) TE

(2) e

(3) @Y

(4) EOHRT

e o=z § ‘A g @ wEn g w9
q Tefgame ?

(1) Feied

(2) T

(3) o

(4)
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¥ @ @ g g 3@ awE A
AT 9 3 B

(1) o o

(2) G 9

(3) SIE—~T d

(4) dfee 9ga

AT F g & T aE ;e 7
(1) =3

(2) AEarE® qsl

(3) g

(4) g

-GN I qT’ B qArErE 787 & ¢
(1) FEs

(2) fafdrErd

(3) @

4) i

AR’ = B FE A &

1) 6 +d

@ To + 9

@) T& + 3@

(4) M +3d

Yriteay’ g F qIE Y s e
(1) 3+ 3@

(2) A + g9
(3) AT + @

(4) ARH + 39
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R 1 ‘@ @ e @ gfe B

(1) STEHToT-SHY

(2) TETIToT-|E

(3) STEAITOT-3THIT

(4) HETITOT-3THIY

THAE’ q H I9gE g H T
L

(1) fafrar qegey

(2) qAE Tgey

(3) wl AYHY

(4) =gl agEY

g7 @ T a7, dws — wi @
fera @gt ord @1 T FRY

(1) TETE & S i fegerar

2) T, I, THS F [ WA AW &
(3) STUELIE FEGeN @ & I

(4) Teelt & TER | BF S

IuE Wed 9=
(1) g

(2) gar
(3) 3TAYH

(4) e
orge faeed @ g
(1) -3

(2) SHA-vgHd
(3) IIE-FE

(4) STYUT-IEY]
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(1) a7t

(2) HIRE

(3) SfISH

(4) fe=it

20 R
WM % U gfT 9= & 999 $13

(1) o

(2) &

(3) TH

(4) S

8 9= § g g9 @ A 78
gam e ?

(1) FEER

(2) wErE

(3) wlenfig -

(4) FARIA

Y F YR Fr e ?

(1) ¥

(2) g

(3) M

(4) i

?ﬁﬂfﬁﬁfﬁﬂﬁﬁf@:mm 7el gam
?

(1) T9moeq

(2) R

(3) gerioT

(4) HedgE

.............
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(3) o
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AR A T WO B qee @ "/ g
fear @ weg g@ ofed & wemifda o degEw
Rl o fE ¥ 9mdm e @ o
WREE &9 & &7 § offed fem s @
Fred %8 @1 78 4 @ s § R e
T O g Fp T aEd B wuw @ 9
uRad & ARd qEe g ¥

aeF deaelt # FRwE g @
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dm o F e R e W a R

HEEH WEE % ®Y O 4MH Al N merEN

e A giefowas aRgeet & a8 anifte
o = e o 9w w9 B w1 @
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56. Wmaﬁf?ﬁﬁw%
(1) 9% WRER
(2) Wy
(3) WU & WY REdH
(4) aft faeey T @
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57.
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Gk & et &

(i) EFAH gBEE &

(il) W™ THEd &
(iii) T g B

(iv) gfte fawas aREeaT &
i I T & gie
(1) @) @ (@{v)

(2) (i) T (v)

(3) @ (iii)

(4) FA (i)

T & oI UMl i Sfae™ &
(1) gl A (2) g |
@) FIEN A @) =l A

fysedwer & st @
(1) e

(2) farg

(3) &

(4) HieHT He7

=AY qXd § difed faard 8
(1) smyfRa

(2) YU F HFET

(3) ST H BT H @I HTA
(4) 0T AT oA

Level-3/167
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HIT - III/PART - 111

ST - 11 (S AH)/LANGUAGE - I (ENGLISH)
Direction :  Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copi.......... = Plentiful

Level-3/167

64.

65.

66.

I don't enjoy going to the dentist.’

The word 'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :

Mother said, "Don't go to the park."
(1) Mother asked us not to go to the
park.
(2) Mother told us not to go to the
park.
(3) Mother said us not to go to the
park.
(4)

Mother said to us to not to go to

the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine
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67. Choose the correct passive Direction : (. Nos. 70 to 74) : Select the

construction of the sentence : sentence that is grammatically correct :

Auctioneers will sell the painting at

auction. 70. (1) My brother is the student in
(1) The painting would be sold at Mayo College.
auction.

(2) My brother is student of Mayo

(2) The painting will be sold by the College.

auctioneers at auction.

, . (3) My brother is a student in the
(3) The painting will be sold at : '
Mayo College.

auction.
(4) The painting will be selling at (4) My brother is a student in Mayo
——— College.
68. Identify the figure of speech in the 71. (1) Neither of them were present
following sentence : there.

I t be cruel, only to be kind.
mus el, only e (2) Neither of them was present

(1) Epigram , there.
(2) Paradox 2
(3) Neither of them present there.
(3) Analogy
(4) Neither of them are present

4) Metaphor
“@ P there.

69. Which of the following words is mis-

spelt ? 72. (1) The roses smell sweet.

(1) incongruous (2) The roses smell sweetly.

(2) chronological
' (3) The roses are smelling sweetly.
(3) synchronus

(4) sympathetic (4) The roses are sweetly smelling.

Level-3/167 P.T.O,



73.

74.

75.
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(1)
it.

(2) You certainly ought not to have

done it.

(3) You certainly did not ought to

have done it.

4)

You certainly ought not to have

been done it.

(1) Who was the book given to ?
(2) Who the book was given to ?
The book was given to who ?

(3)

(4) Whom was the book given to ?

Choose  the correct phonetic

transcription of the word 'I.pcate'
(1) I/luketf

(2) .flakeitf

(3) /Nou'keit/

(4) /Nauket/

Level-3/167

You certainly did not ought to do |

(16)

76 Choose the correct direct speech of

T

78.

the given reported speech :
He said I'd better go because it was late.

He said, "You'd better go because

1)

it's late."

He said, "I'd better go because it

e

was late."

(3) He said, "You'd better be gone

because it was late."

(4) He said, "You'd better go because
it was late."
Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article

‘the’ ?
(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.
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79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/167

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
the utter absence of all

requisites 18

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know: and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
is

unbiased freedom of mind which

necessary to its receiving and giving their

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T.O.
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83.

84.

85.
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What is not a requisite of common
sense ?

(1) the utter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.
(2) Common sense requires the

utmost simplicity and sincerity.

(3) Common sense feels the air of
truth and propriety as the fingers

feel objects of touch.

the
native simplicity and warps and
trammels the freedom of mind.

(4) Common sense destroys

Fill in the blank with the most
appropriate word :
Common sense has been well
pronounced to be ‘fairly worth the
BEVOR s :
(1) Notions

(3) Talents

(2) Sciences
(4) Wits

Which is not a synonym of the word
'pedant' ?

(1) dogmatist

(2) formalist

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable oplion :

87.

88.

89.

90.

child should learn to read and

write
(1) All (2) Every
(3) Whole

(4) Both

........... , do you think
TV violence is harmful ?

Can I ask your

(1) opinion (2) favour

(3) question (4) advice

Where is my wallet ? I left it
the kitchen table.

(1) at (2) in

(3) on (4) by

Take some medicine and the pain will
o P .
(1) back (2). off

(3) out (4) away

The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/167
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AT -IV/PART -1V

SIS / POLITICAL SCIENCE
T : Fraffe ged & a7 &7 @ g gag ara A% i

Direction : Answer the following questions by selecting the most approp riate option.

91.

92.

93.

94.

g TeR 3 ‘TS99 @ §99 TERIEE
wdaar 4 7ef e ?

(1) STeEEEnEl T

(2) AHET TH

(3) FECHER TH

(4) a9 TH

HgHE Ty gEn WRwe & e OaEE
g @R Tanfe egdl A
FH & o W i ferar @ ?

(1) 2118 (2) 2124
(3) 2128 (4) 2132

dam mww ¥ w@m Bu T
G- G H G ®

(1) F=-T°9 a9 |
(2) eqEETH & AHERl A
(3) far= g 4
(4) G FI ToEET 4

q § et @ $odsy #
FrRYT FAF FH TEAY

(1) T dshe Rl dae & R SR
wed g e R ST A §

(2 Tid BN W, daem fEmE ®
T F B Y T a1 R

(s)ﬁzsesﬁﬁﬁmﬁaﬁﬁsﬁfﬁa
F i Rl Sftwfad €1

(4) B I Hellud UH-GEAHS
g 2 e R T oAn

Level-3/167

91.

92.

93.

94.

What kind of 'State' is not related to
'Negative Liberty' ?

(1) Laissez Faire State

(2) Nightwatchman State

(3) Welfare State

(4) Minimal State

Which Resolution of United Nation's
Security Council the framework for
elimination of Syrian Chemical
Weapons was decided ?

(1) 2118 2) 2124

(3) 2128 (4) 2132

The 'Munshi-Ayangar Formula' used
in the Constituent Assembly was
related to

(1) Centre-State Relations

(2) Rights of Minority

(3) Preventive detention

(4) Official Language of the Union

Identify the incorrect statement

regarding Constitutional Amendments

in India

(1) Such Amendment Bill can be
introduced in either House of

Parliament.

(2) The President is bound to sign
the Amendment Bill, when
passed.

(3) Article 368 mentions three
methods to amend the
Constitution.

(4) First Constitutional Amendment

was passed by Uni-Cameral

Parliament.

P.T.0.
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I @ i W w3 R
P @es ¥ 2012 ¥ SaamE amEr
AT F 7

(1) e wrife sfrem

(2) THEE 99 9REg

(3) AT ufiyg

(4) A9 FpRM gt d@vee

Frfifed & & o9 g9 T @9 @
fasry st 787 % 7

(1) o O off (SRief o wree)

(2) =g uF o (feg w@rer Ge)
(3) o A F (e =)
(4) o & g (i qraar da)

T TSET gAE H, Rug & e
T o7 ?

(1) Hio TTIYEAEN

(2) Fo GYHY

(3) Fo o e

(4) %o THo Hsfr

frfafad & & F-a F-saear
qqq & 7

(1) :?zﬁri%rsawéﬂa:f(wm)ﬁ
Ell

(2) A onffe @9er™ (EEC)
T

(3) FAMET &9 (EU) B w&mem
(4) I &3 99 (ARF) &1 779

Frifea & @, @9 woEl-ReE 3
oyt aimey § defyg 787 R 7

(1) Me e
(2) TFe =rea
(3) Wemer e
(4) 9 tHo FaEw
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95.

96.

97.

98.

99.

Which organisation organized the
Jansatyagrah Yatra in 2012 to achieve
peoples' control over land and livelihood ?
(1) Gandhi Peace Foundation

(2) Samajwadi Jan Parishad

(3) Ekta Parishad

(4) Mazdoor Kisan Shakti Sangathan

Which of the following is not a
specialized agency of the United
Nations ?

(1) ILO . (International
Organisation)

WHO (World Health Organisation)
ICJ (International Court of Justice)
ITU (International Telecommunication
Union)

Labour

2
(3)
(4)

In the first Presidential Election, who
was the Opposition Candidate ?

(1) C. Rajgopalachary

(2) K. Santhanam

(3) K. T.Shah

4) K. M. Munshi

Which is the first in chronological

order ?

(1) China's entry to World Trade
Organization (WTO)

(2) Establishment of  European
Economic Community (EEC)

(3) Establishment of FEuropean

Union (EU)

Birth of ASEAN Regional Forum

(ARF)

(4)

Among the following, who is not
related to the Modern perspective of
Political Theory ?

(1) David Easton

(2) Robert Dahl

(3) Gabriel Almond

(4) George H. Sabine
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g ToFia®s a9 & FAE-fEE
ST O A 1977 & @ba g
EIEASEII: I

(1) S=ed

(2) HTEA B

(3) wcA el

(4) AT WF &

Freifeg & @ #9-@1 gem siaua
gﬁ:ﬁﬁﬁg’ﬂﬂ’ﬂm%&iﬁﬁﬁﬁm 7ET
(1) &AM d B

(2) afee & AR F; T

(3) arAr |y & 3Hd

(4) qdt g9 & A FH-IR

Y
i

1969 ¥ FI9 a@ & f[QWeE & 999
FAF F TegE B o1 7

(1) THo ffemar
(2) Fo HETA
(3) o FHo F&HIM

(4) o Hlo FARA

‘TEET FE At B R
(1) g9 g=

(2) T g= A

(3) wHadl g |

(4) omERre e §
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100.

101.

102.

103.

104.

2

In India, Secularism is not in

conformity with

(1) Cultural plurality
(2) Majoritarianism
(3) Principled distance

(4) Benevolent neutrality

On the election symbol of which
Political Party, Janata Party contested
in the 1977 Lok Sabha polls ?

(1) Jan Sangh

(2) Congress (O)

(3) Swatantra Party
(4) Bhartiya Lok Dal

Among the following, which event is
not related to the end of Bi-Polarity
in International Relations ?

(1) Tiananman Square Violence

(2) Demolition of Berlin Wall

(3) End of Warsaw Pact

(4) Popular Mass uprisings in East
Europe

Who was the President of the

Congress Party, during its 1969 split ?

(1) S. Nijjalingappa

(2) K. Kamraj

(3) D. K. Barooah

(4) J.C. Kumarappa

'Cyber Laws' are included in
(1) Union List

(2) State List

(3) Concurrent List

(4) Residuary Subjects
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Y W U Rl 4 96ia fget

W foar #if

(A) = H FEE e aggel @
Frrge faqeer & g B

B) & W IE-fEid #ogw
fEFITE =g w2

SUF FYF H A B T gE Y ?
(1) e (A) |81 ?

(2) Fad (B) & &

(3) (A) T (B) a4 @& &

(4 T (A), T B) TE 2

fhe HgF T werated & gEv
# fatta Aifaga g9 & R o ?
(1) PBras

(2) 37 BaTESies

(3) g e

4) FE aeH

Bl & ommE o Rt wwel @
GICCIE ) AT F Joft A
@ e ?

(1) 18 (2) 20

(3) 21 (4) 22

i w1 fEm #ifvm
[A] oTJeE 143 TwOW IEEE B
HEAEHR] TR & ST ¥

[B] 30 og=% & ofdid @eme o
TS # s ‘iR 2, T 5
‘iR | '

[C] = 99 Udr goe 39 j
IF FT GHhT & |

E‘Tga‘ﬁ 7 7 FIF-A/A F4T g8

227

(1) %99 (A)
(2) 9 (A) TG (C)
(3) Faa (B) T (C)
(4) Faa (B)
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105.

106.

107.

108.

Consider the following statements

regarding Rawls' ideas on Justice :

(A) Problem of Justice is the fair
distribution of Primary goods.

(B) He
Justice as

theory of
Procedural

recognizes his

pure
Justice.

Which of the above statement is correct ?

(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) & (B) are correct

(4) Neither (A), nor (B) is correct

Soviet Union opposed second term to
which UN Secretary General ?

(1) Trygve Lie

(2) Dag Hammerskjold

(3) U Thant

(4) Kurt Waldhiem

Besides Hindi, how many other
languages are recognized as scheduled
language by the Constitution ?

(1) 18 (2) 20

(3) 21 4) 22

Consider the following statements :

[A] Article 143 deals with the
Advisory Jurisdiction of the
Supreme Court,

[B] To seek advice, under this article,
is literally President's 'Right', not
'Power'.

[C] Supreme Court
tender such advice.

Which of the statement/s given above

is/are correct ?

(1) (A)only

(2) (A) and (C) only

(3) (B) and (C) only

(4) (B) only

can deny to
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T R S| T oT™ # A &
3Ry g™ wE=

(1) I TR - FEA

(2) ofFEd e - HEAYL

(3) fer - M=

(4) oI - A

qq # e o ® fEeedes
e & 7

(1) 4 2 5

(3) 6 @) 17

qRGE g § N U ‘Geefiieey
ofeq’ & HeY §

(1) 99<E yomel |

(2) TEEEE A

(3) H9arE 9

(4) e |

Freifbd el ot feramt g

(A) 1989 % THET T & IROTH F
Y HEAG-IOm F GREe qE
a Bl .

B) 38 TIE F B0 wHEw § @l
9 a & w9 F I9d

I F9F H § FA-A FAT 7878 7
(1) 3aa (A) T 2

(2) Fa (B) Wl ©

(3) (A) g (B), A T&I ¥

(4) T (A), T B) T E

Fr=fifeg § @ B9 ‘qifare’ & H4Ed
g2

(1) e

(2) T

(3) yAI

(4) =
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A

Identify the incorrect pair of State
and Demand for new State therein

(1) Uttar Pradesh — Kosal

(2) West Bengal — Kamtapur

(3) Bihar — Mithilanchal

(4) Gujarat — Saurashtra

How many States in India have
bicameral legislature ?

(1 4 (2) 5

(3) 6 4 7

'"The Westminster Model' adopted in
the Indian Constitution is related to
(1) Parliamentary System

(2) Republicanism

(3) Federalism

(4) Secularism

Consider the following statements :

(A) The
System' collapsed with the outcome
of Lok Sabha Election, 1989.

(B) In this
emerged as the second largest
party in the Lok Sabha.

Which of the above statement is correct ?

(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) and (B) are correct

(4) Neither (A), nor (B) is correct

phenomena of 'Congress

Election  Congress

Among the following, who is related
to '"Pacifism' ?

(1) Tolstoy

(2) Bakunin

(3) Mussolini

(4) Hegel

P.T.O..
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IE-g69 F MW RO 29 B Ul
F 98 ved g A w4 7

(1) FofifEr (2 gHifm
3) forE (4) e

g B SE (W & o) B R
STIe WeAYYH FEl &/ A gal ?
(1) eI |

(2 F@ |

(3) feEr ¥

(4) IO WA

Friifbd & & F9-@ gEw ol
AER % =R #1 weT e & ?

(1) FaET

(2) ‘GFE TN ofF T

(3) ‘UZew offw A’

(4) ‘Royci@ o T WIem o7 wmid

fra ®ffd ¥ @i ame el @i

:?‘Errﬁzﬁnmmqm FA I FwRy
?

(1) ddd g Nedr aif

(2) SIsNE Fear afufe

(3) HTHIET STEM

(4) fﬁo%og"ﬂ?ﬂﬁ%

Tee-2 93 eeN 5

(1) EEd g ST A

(2) HET T g

@) fERd  MEEg R W ga
(diFaR) |

(4) 9N Isafe i St gar (i)
A
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116.

117:

118.

During Arab Spring, the President of
which country was dethroned first ?

(1) Algeria
(3) Egypt

(2) Tunisia

(4) Libya

The movement for the Right to
Information (RTI) was first started from

(1) Rajasthan
(2) Kerala

(3) Bihar

(4) Uttar Pradesh

Among the following, which Book
denounces the idea of Natural Rights ?

(1) ‘Leviathan’
(2)
(3
4)

‘Second Treatise on Government’
‘Rights of Man’

‘Reflections on the Revolution in
France’

Which

constitutional recognition for the local

committee recommended

governmental bodies ?

(1) Balwant Rai Mehta Committee
(2) Ashok Mehta Committee

(3) Sarkaria Commission

(4) P. K. Thungan Committee

SALT-2 was signed between
(1
(2)
6))

Nixon and Brezhnev
Carter and Brezhnev

Mikhail Gorbachev and George
Bush (Senior)
(4) Boris Yeltsin and George Bush

(Senior)
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P § § dF-a 29 Si-4 T #:

T e R, S ugw U @ g
oRwE # el geEd & UF-gal & el
P T FAT & 7

(1) S (2) S
(3) R (4) o7 ST

1984 & I & W BT Iz A A
g e ST & e fpar T e 7

(1) 9 ST

(2) SFEE R

(3) forames s

(4) o SFET

dfeue & oTy®T 249 F i Hehew
ufid # & fow wemEw & Reaw
TeE H GHAH STEF © 7

(1) IURYE ©F WREM w a e

F 2/3 qgAT

(2) SURET Td AR HH A e
H 23 TGHA A1 T F FW
el H A

(3) SURed Ud HAEH HA A qEe
F 2/3 TEHA qU1 T H W
o G H qgH

(4) TET % b B FEEl H T

H9 Gy §W H WEY Gma @7
wee J87 A ?

(1) HewE Hge
2) dio do FEMER

(3) To HIeE T4
(4) G FOTEE AT
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121.
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A

Among the following, which country
is not a member of G-4 nations,
which support each other's bids for
United

seats on the

Nation's Security Council ?
(2) Japan
(4) South Africa

permanent

(1) Germany
(3) India

Which Commission was constituted
for the enquiry of excess done during
1984 riots ?

(1) Shah Commission

(2) Nanavati Commission

(3) Librahan Commission

(4) Srikrishna Commission

Support of how many members of
Rajya Sabha is required to pass the
resolution under Article 249 of the
Constitution ?

(1) 2/3™ of the members present and
voting

(2) 2/3" of the members present and
voting and majority of the total

members of the House

(3) 2/3™ of the members present and
voting and majority of the total
membership of the House

(4) Majority of all the then members

of the House

Who was not a member of the

Drafting Committee of the
Constituent Assembly ?

(1) Mohammad Sadullah

(2) V.T.Krishnamachary

(3) N. Madhav Rao

(4) Alladi Krishnaswamy Aiyyar

P.T.O.
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e & ATREAT g B @ fo-
HHea T &

(1) @d=ar (2) |HFE

(3) e 1) =T

9 3= § ddfd fr=ifed geaet &

9Gd g0 FET FATHA F R

[A] e @l 1 ene
[B] @& #Fe

[C] STEselay s
[D] ST G8UE Hehe
1) D=0=A=B
(2 A-B-C-D
(3) B—-C-A-D
(@) (G A DB

TG YR F BT, AT oIS -REid
% WO URoeg § g 787 &

(1) zfErEarR
(2) TgEER
(3) FWERE

(4) FA-NTEREETs
fre ad FiEg i &= 9@ 3 3

T F faifed araE aeEn & 97

fepar or ?
(1) 1956 & (2) 1957 ¥
(3) 1958 H (4) 1959 #

- HiaUH & wgeT 355 § Sfwiad e

' 3§ Rafedl 9 gearf

(1) I& U9 & SR
(2) & U9 9 famE
(3) &I STFRHYT UG 3fdiieh SHeTifel

) SR e wd were fgie
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The key concept in Marshall's idea of
citizenship is

(1) Liberty (2) Equality.

(3) Fraternity (4) Justice

Identify the correct ascending
chronological order of the following
events related to the Cold War :

[A] Bay of Pigs Invasion

[B] Suez Crisis

[C] Eisenhover Doctrine

[D] Cuba Missile Crisis

(1) Db-C-A-B

2 A-B-C-D

3 B-C-A-D

(499 C-A-D-B

Identify the notion, not related to the
Traditional perspective of Political
Theory

(1) Historicism

(2) Positivism

(3) Institutionalism

(4) Legal-Formalism

In which year the Congress ruled
Central Government dismissed the

elected Communist State
Government of Kerala ?

(1) 1956 (2) 1957

(3) 1958 (4) 1959

Identify the two situations of

Emergency mentioned in the Article
355 of the Constitution

(1)
(2)
(3)

War and External aggression
War and Armed rebellion
External aggression and Internal
disturbance

Internal disturbance and Armed

(4)

rebellion
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TRHE  dfeuE & og™s 30 A
(1) o9 37 91 )

(2) AT A1 fAfg 9¥

(3) 4" T gl W

(4) foafa v depid o

- A1 EE | gead
TR ?

(1) e (2) T E A R
(3) 4 (4) Tq § I

9 3 gmeA-fasid & gfaued e
fpam & 7

(1) ommed 89 A

(2) o9 Ted A

(3) Tae Hifors A

(4) o dio AFHEET

cieor B o A e S ol A
@ AERE ¥ ooy e @ & fog
27 Uf9rd ST FT I TEqET T 7

(1) amF @

(2) THo Wlo Hedl
(3) THo o =i
(4) 3T |rEs

e s e A [ 2 | A O
freifhg & @, F9-91 HEeaT W
Pl ¥ defag 787 & 7

(1) g fE-ger

(2) FAF T

(3) el & TR

(4) -Tel1g ot ufRar

P UoFifg-fasid &1 ‘g= Mg
ffas & =9 § affg e @ 7

(1) i ST

(2) ToIE HFE

(3) fm ©™

(4) dio 3o Hea
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A

In the Article 30 of the Indian
Constitution, ‘Minorities' are based on
(1
(2)
(3)
4)
What is not related to Arms Control
or Disarmament ?

(1) START (2) MTCR

(3) SALT (4) SDI

religion or language
language or script
religion or culture
script or culture

Who has propounded the Capability
Theory of Justice ?

(1) Amartya Sen

(2) John Rawls

(3) Robert Nozick

(4) C. B. Macpherson

After
Judgement,

Court
reservation in
Government other
Backward Classes became valid ?

(1) Waman Rao

(2) M. C. Mehta

(3) S.R. Bommai

(4) Indira Sawhney

which
27%

services

Supreme

for

Among the following, which concept of
the dynamics of Indian Politics is not
related to Rajani Kothari ?

(1) Multiple bi-polarity

(2) Congress System

(3) Politicization of Castes

(4) Non-Party Political Process

Who has described Political Theory as
'word dependent reflexion' ?

(1) Dante Germino

(2) Rajeev Bhargava

(3) Leo Strauss

(4) V. R. Mehta

P.T. O.



134.

135.

136.

137.

138.

http://haryanatet.com

dree fafes 8 f omfie @
footg fopar s 2

(1) Tula am

(2) A ST &

(3) UREMH ST &R

(4) 992 am

it fremeamaelt & @ @9 g @)
e TF Gfew e & wg §
g 8 ?

(1) FERER (2) wigarE

(3) TANHEIE  (4) STUSTEHAER
A dfeue & or®e 25 4 defm
Frifeiad waet @ fear #ifm

(A) 1 B WEId & ANER Faa Tt
AR @ T R

(B) 30% &N SfdaX & w@aFar
giftea it . 1

SUdF HYT A P B FeT D ?

(1) #ad (A) T8

(2) #ad (B) 9el &

(3) (A) T (B) 34 §ef ¥

(4 T (A), T& (B) T2 &

g =R @ed feifee § ¥ R

e & I T & ?

(1) &R A 9YF T qHE o

(2) FMR AR TP T AU e
(3) HIF U AR Ud fawrg qxieH
(4) HIFT S fr R

Feifee & &, st & f9-a1 e
Sf-20 #1 gEE B ?

(1) 4E &9 (2) WE

(3) i (4) H'as
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Who decides, which Lok Sabha
constituency is to be reserved ?

(1) President

(2) Election Commission

(3) Delimitation Commission

(4) Parliament

Among the following ideologies, who
regard the Nation primarily as an
'organic' entity ?
(1) Liberalism
(3) Socialism

(2) Conservatism
(4) Anarchism

Consider the following statements

regarding Article 25 of the Indian

Constitution :

(A) Right to Freedom of Religion is
given to all citizens only.

(B) Freedom  of
ascertained by it.

Which of the above statement is correct ?

(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) & (B) are correct

(4) Neither (A), nor (B) is correct

conscience is

WTO is serving as the successor to
which of the following organization ?
(1) General Agreement on Trade and
Tariff

General Arrangement on Trade
and Tariff

United Nations Conference on
Trade & Development

United Nations

Programme

(2
(3)

(4) Development
Among the following, which grouping
of Nations is a member of G-20 ?

(1) EU (2) APEC

(3) ASEAN (4) CELAC
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Aoedl daar ¥ gfear-gest 3 gen
2

(1) 53 (2) 56
(3) 58 (4) 65

‘SR g Hiew TEad ©

(1) JEAEE § STadEEa 9 e
% fa5s g5 4

(2) 3STUE & MM Gel 9X SHRAT |

(3) ¥ W fremee exen @

(4) 599 @€ 7= A

oa-faeid & gaq § e areEe

TR ?

(1) w9Ee faade #

(2) faEremT &

(3) TOHITT & 713 a5 &

(4) TI%E TFEEE

Rhr oy @ e Al A
e Siifedl o e & ¢

(1) &

(2) dHETg

(3) STy WY

(4) FATESH

‘FOiEar % ded B O fRER ‘O
s’ Tt @l o2 7

(1) F49 7 (2) MY A

(3) 83F A (4) AT
frifed & & BFew e o
T STEHFAT & g e fEar B 7
(1) @ A (2) T A

(3) efem 3 (4) = F
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A

The number of women members in
the Sixteenth Lok Sabha is

(1) 53 ) 56

3) 58 (4) 65

'Operation Enduring Freedom' is
related with

(1) War Al-Qaeda
Taliban in Afghanistan

against and

(2) Israel's invasion on Gaza Strip
(3)
4)
What has not contributed -to the
Decline of Political Theory ?

(1) Paradigm Shift

(2) Ideology

(3) New Science of Politics

(4) Logical Positivism

Missile attack on Sudan

First Gulf War

The Politics of which State is polarized
on Vokkaliga and Lingayat castes ?

(1) Kerala

(2) Tamil Nadu

(3) Andhra Pradesh
(4) Karnataka

Who

Economics' 1in
'Sustainability' ?

'Buddhist
context of

discussed
the

has

(1) Keynes (2) Galbraith
(3) Hayek (4) Schumacher
Among the following, who has

differentiated between Natural and
Conventional Inequality ?

(1) Plato (2) Aristotle

(3) Hobbes (4) Rousseau

P.T O
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T TYF W &Y ° afuferd g
(1) 264, 1945%

(2) 24 STFCET, 1945 H

(3) 30 STE, 1945 H

(4) 15 37T, 1947 HI

2004 ¥ ‘Frsg gmie 5= @)
srEtE @ o, S aed @
TEel 5% of ?

(1) &R @) =i
(3) A (4) TH

‘& 1 e # fEr e diEe @
forar mr & ?

(1) fafeqr Gfaam

(2) 9gF U9 AR 1 diaee

(3) maRer Hfaus

(4) FHAET F Gfeer

‘AT B A # e g
& [0 dfaem @ SR § o
@e fraifeg frar mn & 7

9% el
T B

(1) =
(3) THFT

(2) T@d=ar

(4) qga

PF-TT G ofes omfRE § d&tg
TEF e ?

(1) Tg
(3) T

(2) dr'as
(4) I

Hrofoamo (tmo Udo) & Ted fEAm
T
(1) =il T g

(2) =6 FIHER &
(3) To FHo MU BRI

(4) THo Udo [ &[T
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India joined the UNO on
(1) 26 June, 1945

(2) 24 October, 1945
(3) 30 October, 1945
(4) 15 August, 1947

In 2004, where was the meeting of the
'World Social Forum' was held, which
was the first to be held outside Brazil ?
(1) Karachi (2) Mumbai

(3) Nairobi (4) Dakar

The idea of the 'Rule of Law' is taken
from which Constitution ?

(1) British Constitution

(2) USA Constitution

(3) Irish Constitution

(4) Canadian Constitution

What objective has been set in the
Preamble of the Constitution to
specifically assure the 'dignity of the
individual' ?
(1) Justice

(3) Equality

(2) Liberty
(4) Fraternity

Which organisation is not related to
Latin America ?
(1) ANZUS
(3) ALBA

(2) CELAC
(4) UNASUR

C.P.I. (M.L.) was formed by

(1) Indrajeet Gupta
(2) Charu Majumdar
(3) A. K. Gopalan
(4) M. N. Roy

Level-3/167
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13.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e o &

The answer will be treated wrong, if it is marked, as
given below :

O ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Ahswer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.
Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,

. electronic device or any other material except the Admit

14.

15.
16.

17.
18.

19.
20.

Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in-
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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